COT 4932 
Assignment 4 

 Spring 2005
February 3, 2005
Due Thursday, February 12, 2005 in class

1. 
Caesar Cipher: Encode the following string using Caesar Cipher using k = 20: 

I am sending a secret  message
2. 
For the following Caesar cipher-text, find the plaintext and the k-value:

HPHTWWXPPELEXTOYTRSE
3. 
Encrypt the message “meet me at the usual place at then rather than eight oclock” using the Hill cipher with the key
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. Show your calculations and the result. 

4.  Problem 2.8, TB page 52.

5. This problem explores the use of a one-time pad version of the Vigenere cipher. In this scheme, the key is a stream of random numbers between 0 and 26. For example, if the key is 3 19 5 …, then the first letter of plaintext is encrypted with a shift of 3 letters, the second with a shift of 19 letters, the third with a shift of 5 letters, and so on.

i) Encrypt the plaintext sendmoremoney with the key stream 9 0 1 7 23 15 21 14 11 11 2 8 9.

ii) Using the ciphertext produced in part a, find a key so that the cipher text decrypts to the plaintext cashnotneeded.
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